S'\mp\e Peolclon

'?m%w@r ﬁ(’,\{ Using Probabilities and Sums

*The sum of all the different probabilities in an event must be equal to this

decimal, fraction, and percent: i, YN and 100

1. There are three choices ofjellybeqr_]s: grape, A 3 3 A
cherry, c:r;d orange. If the probability of getting a \‘é' «r% e ¥ el “,'E
frclpe is o and the probability of getting a cherry is - 5 T
=, what s the probability of getfing orange? CERCRRTI E_

2. There are four different type of marbles to O V1%,

choose. If the probability of getting a blue is
45%, red is .17 and yellow is 3%. What is the
probability of getting the final color of marble?

WS e s\ 1%+ 3% = DY
Q0L ~ D7, 2

3. There are four flavors of starburst inside a bag:
lemon, orange, cherry, and strawberry. The

1
probability of choosing a strawberry is e the

probability of choosing a lemon is .25, and
probability of choosing a cherry is 37.5%, what is

1-0.7% *{0.25]

the probability of choosing an orange starburst?

The container below contains 2 gray, 1 white and 4 black marbles:

Without looking, Eric chooses a marble from
the container:
s Y
a. P(white) = o
b. P(notgray) * 2471
c. P (black or white) 2/
d

. Supposed you picked 50 times out the container:

What is probability you would choose a white?

VoY |
PO W

g x50 '“-)_1:';" Narve3 }

Use the spinner for the following questions:

a Pblue) = 1L 5 025 95,
( }%g \q,u.l‘:ﬁ 2%°i

b. Suppose you spin the spinner 200 times:
What is the probability of spinning green?

2 . 200 3175 wmes |

c. Spin 30 times:
What is the P(red)
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Probobiliiy Review Worksheet

Name:

1. Use the table to the right to answer the
following question: If a student is chosen at
random, what is the likelihood that the
student earned an A on the math tesi?

a. Unlikely
b. Likely
c. Equadlly likely as unlikely

Letter Number of
Grade  Students

MmO IO|m >

W i oo

2. Andy rolled a number cube labeled 1
through é. He rolled the number cube 500
times and recorded the results of each roll.
About how many times could Andy expect
torolla 52

3. Ajar contains 27 marbles. There are 4 blue
marbles and the rest are red. If a marble is

chosen at random, what is the probability it

will be red. Write your answer as a fraction
and as a percent.

4. Kristy rolled 2 number cubes, each labeled 1

through é. She rolled the cubes 400 times,
added the two numbers showing, and

recorded the results. About how many times

should Kristy expect a sum of 82

5. A computer randomly selects 2 visitors to the

ZOO out of every 225 visitors to win a free
ticket to the zoo for another day. The zoo

had 5,502 visitors this season. Which number

is closest to the number of visitors who

received a free ticket to the zoo this season?

6. At a middle school, 1/5 of the students have

a cell phone. If a student is chosen at

random, what is the probability the students

DOES NOT have a cell phone? Write your
answer as a percent.

7. Ajar contains pink, white, purple, and yellow
jellybeans. The probability of choosing three
of the four colors is shown in the table to the
right. If a student pulls out a jellybean without

looking, what is the probability that the
jellybean will be yellow?

Color of
Jelly Bean

pink
white

purple

Probability of
Choosing Color

OlWo|e |

8.

Amanda has a jar full of marbles. The probability of randomly
{ :

selecting a blue marble isﬁ, ared marbleisg, a green

1 1

marble is3, and a yellow marble is2 . Which marble

is Amanda least likely to randomly select?
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Unit Rates - Complex Fractions

Complex Fractions: A co _u_mx mon:o: is a frac

adencminofy or

Ex. 1: It takes Ms. Johnson =

\ Y ons
,.\L he

o,ﬂ an Jocﬂ *o run H

cookies. The recipe calls for 2 Y4 cups of flour an

tion in which the “ _Cm :m;\w% .\\

are fractions. Soitis like a fractionin a
fraction. To simplify a ooB.me ?Qn:o: —Yyou divide the numerator by the denominator.

Now let's calculate a unit rate that involves a complex fraction:

3__mm What is her unit rate in miles per hour2

R

Ex. 2: Brianna's Chocolate OEU Ooown_m recipe will make about 3 dozen chocolate nr__u

d 3/8 table spoon of baking soda. If Brianna

was to adjust the recipe to include 1 EU_mmUoon of baking soda, how many cups of flour

would she need to use? \,\ll.unﬂl
,\ 44
27/4¢.% 59\«

3lg T g,c

A

Find the unit rate for each scenario below:

1. $2.50 per 5 cans, find price per
can

2. $5 for 4 candy an U:nm per
candy Uo:

3. There m cups of juice Umﬂmn:n sugar,

find how much juice is in

sugar.

4. The aquarium pumps 5 mmm:o:m
of water every % of an hour, find

mm:o:m%ﬁww\)

5739 7

TABLE CHALLENGE

1. While remodeling his kitchen,
Arthur paints the cabinets. He
estimates that he paints 20 square
feet every half-hour. How many
square feet does Arthur paint per
-hour?

*HINT: a half hour = % hour

2aFt" x2 \@pmw

72\

2. Paige SOEmonm in mm hour,

How many acres does Paige mow
per houre

3. Two containers filled with water are
_mo_n_:@ ﬁoaasmﬁ A lecks at a rate

e 5 gallon every N“m hour.
Container B leaks at a rate of m
gallon every Y3 hour.

Umd,mﬁaﬁm which 0036_39 is

4. Two liquid storage containers are
being filled. Liquid ente W the first
003639 at arate of /% gallon

per 2 X minute. Liguid pours into the
mmno:a mwoqomm container at a rate of
r@Q:O: per mm minute. Determine
5.!03 container is being filled faster.

#\ Y29 %390

74 mn g | fin
iR
[ _ .

¥2 Fsgul y
. ws_xa
.N\w:\_.s /f_ (nin
-
s X o~ 18

comuner 1 FINSfasler




= Using Units Rates with Fractions Name:
Solve each problem. Answer as a mixed number (if possible). Answers

1) A cookie recipe called for 2 1/2 cups of sugar for every 2/5 cup of
flour. If you made a batch of cookies using 1 cup of flour, how many 1.
cups of sugar would you need?

2
2) A bucket of water was 1/6 full, but it still had 2 3/4 gallons of water in
it. How much water would be in one fully filled bucket? 3.
4.
3) A chef had to fill up 4/5 of a container with mashed potatoes. He
ended up using 2 4/6 pounds of mashed potatoes. How many pounds 5.
would he use if he had to fill up the entire container?
6.
2 .
4) A bag with 2 1/6 ounces of peanuts can make /5 of a jar of peanut
butter. It can make one full jar with how many ounces of peanuts? 7
5 8.
: o 1
5 A carpenter goes through 2 7/ boxes of nails finishing 3 /5 TOOVes.
How much would he use finishing 8 rooves? 9.
5 i 10.
6) A water faucet leaked 3 /, liters of water every /g of an hour. It
leaked at a rate of how many liters per hour?
7) A machine made 2 2/6 pencils in 3 3/4 minutes. How many pencils

would the machine have made after 9 minutes?

8) 1t takes 2 1/2 kilometers of thread to make 3 1/4 boxes of shirts. How
many kilometers of thread will it take to make 3 boxes?

9) A tire shop had to fill 3 1/2 tires with air. It took a small air

compressor 3 3/5 seconds to fill them up. How long would it take to
fill 3 tires?

10) 1t takes 3 1/2 spoons of chocolate syrup to make 3 3/5 gallons of

chocolate milk. How many spoons of syrup would it take to make 6
gallons of chocolate milk?

1 1-10 [90]80]70 605040 3020 10 0]
www.CommonCoreSheets.com




Ainswer Xey

1.) Riley uses the equation Y = 10x to calculate the amount of money he ears
after working x hours. The table below shows the amount of meney Mandy earns
after working different numbers of hours,

Mandy’s Earnings

Hours Amount :L
VWorked Earned *
4 ] 581 L
12 $108 O
15 $135 Q
i

2.) How much does Riley earn per hour?

_ g 10 pevr vour

..) How much does Mandy earn per hour?

A e} per howr
¢.) Who earns mere and how much more?

Raey erns wmone oy $1 an how

¢) Oa & Groeh, wWhicn person woold hove
a Saree?er Wne?

Rey

# sensiginer
Welis B.EES (TOPY 2) Page 43 {iaf 3 Elont

—~

3. Tayler uses the equation ¥ = 20x to calculate the amount she earns mowing x
fawns. The graph below sHows the amount Caleb earmns mowing lawns.

Caleb’s Earnings

! # ]
140r L/ ;

4

120

100
80

60

40

20 4
0

Amount Earned ($)

|
1 23 45686 7
Lawns Mowed

.} How much does Caleb esrn per lawn?
1003 4 1Qwns = #7295 peritwn
5.) How much does Tayler earn per lawn?
70 ger lown

¢€.) After mowing 3 lawns, who has eamed more and how much more?

W3 25(2) 15

r@x\eb By ¥ 1%_‘

d.) Write an equation that could represent Caleb’s earnings. !

N 29%
‘f‘ tims anowesd
2 g-\S

Wit 8.5E.5 (COPY 2)Paga 116 L SRNNITET

2. Sheila and Adam each drove their own car home for the holidays: Thelequaticn
y = 50x represents the average distance Sheila drove after X hours. The graph
~oelow shows the average distance Adam drove.

Adam’s Distance
Y T 1 i l
| 3 b1 g
350 i
300

T

150

Distance (miles)
NN
S »
[ = J o |

ey
(=]
=

pd

wn
(=]

o

L=

1 2 3 4 5 6 7
Hours

~3.) How fast is Adam driving?
200 e\es— 6 hows *
b.} How fast is Sheila driving?

O anes | howr

¢.) What Is the difference between how fast Adam and Sheila are driving?

V0 enleS P our '

d.) After 3 hours, who drove the farthest and by how much?
3= 50 (®): 80 &-S‘f*‘*’-‘_\ﬁ
N=H0b ('5) : Y20 & ﬁdﬁm
Shele drove Qurhesy oy 30 anmes

90 ~nes) hr

W
Welis BEES(COPY.2) Page gra T "0 Do 1C

4. Abby uses the equation y = 0.50x to calculate the amount she will earn salling
~x cups of lemenade. TheTaole below shows the amount of money Jacob will
earn from selling cups of lemonade.

Jacob’s Lemonade Sales
Numberof | Amount _\,l_
Cups | Earned >~
5 5375 | $0.719
8 600 |05
12 sso0 | $0.71D

a.) How much is does Jacob charge for 1 cup of lemonade?

40,715
b.) How much does Abby charge for 1 cup of lemonade?
— $0.90

€.) What is the difference between what Abby and Jacob charge for 1 cup of

lemonade? ‘,0.—16 _ 8 0.90 > 0 2_6

d.) After selling 9 cups of lemonade, who will have earned more and by how

much?
Pooy = $0.50 (_0«) 34 50
Jocol * $0.79(a): $L1D

LI5-1.80 -~ $2L.2
SQQO\:) ‘D\; $2"25’

(%]

i

i sonocinet
Wois B.EES (CORY 2) Page by B oo



COMparing Codes
~J

name, -\ __

Evan and Nathan are e!?éctri,cifans-; Evan uses the equation y = SOX it"o
calculate the amount he earns for x hours of work. The graph below
— shiows the amount Nathan eéarns for work.

Nathan's Earnings

(o

" 350}

2 N T T T T R G

o= o

200
150
S e T

S

Amoeunt Earned (§)

(=]

 x

Hours Worked
What is the difference in the amounts Evan and Nathan earn per hour?
A $30
= B. $20
T 410

Reliable Aute Care uses the equation y = 55x, where y represents the
labor cost for @ car repair based on x hours of work. The table below
Shows the labor cost at City Auto Repair for different numbers of hours
worked. ;

&

City Auto Repair

Hours o N
Worked | Labor Cost “

2 $100

4 $200

5 $300

Which statemient is true?

A Reliable Auto Care charges $5 more per hour for labor than City Auto

8. City Auto Repair charges $5 miore per hour for labor than Reliable
Auto Care. ’ ;

‘C. Cif:}}f Auto Repair charges $45 more per hour for labér than Reliable
Auto Care,



Two stores sell gasoline.

« Store W uses the equation y = 3.69x to calculate the cost of x gallons
of gasaline. ' 7 |
'+ At Store Z, the cost of 8 gallons of gasoline is $30.08, and the cost of
15 gallons of gascline is $56.40.

If a customer rieeds 12 gallons of gas, which store will cost less and by
‘hew much?

A ‘Store W will cost $0.07 less than Store Z.
8. Store Z will cost $0.84 less than Store W.
€. Store W will cost $0.84 less than Store Z.

@ . The amount per hour charged by two babysitters, Jeanne and Braxton, is

shown in the graph below. A third babysitter, Emilia, charges according to
the equation y = 6x, where y represents the total cost for x hours of
babysitting. ' ' '

Babysitting Rates

5 s e O U s 1)

35 fo il lTesnne
S5
V%}ZG}
© 15—
10}~

-/ JBraxton

0123456
Hours

How does E;m:i;li;-afs' babysitting rate compare to Jeanne’s and Braxton's
rate? '
A Emilia c-‘har:'g;e?s:“the same rate as Jeanne, . }
B Emilia ‘jr:'ih'a‘rj"g:és-.'l"e:SS' than both Jeanne and Braxton,

C.. Emilia ;chfafig_es more than both Jeanne and Braxton.

D.. Emilia -ch-a-fg'es more than Braxton and less than Jeanne.

®

‘Savannah and Trey are playing tennis over the: summer. The city park
charges $3 per hour to use the tennis courts. The table below shows how
much the county park charges to use the tennis courts,

._Hours I 3 _5
Rental Cost | $6.50 | §9.75 | $16.25

They plan to play tennis for 8 hours this week. How much will Savannah
and Trey save by choosing the least expensive park to play at this week?

A $0,25

B $1.00

C. $2.00
& $3.50



EOG Review:

Percent

Name:

¢

"\in‘::' "‘W L '.f t:‘{al.qj

Type of Problem

How to Solve

Example

Claire purchased a soccer ball priced at $27.99
plus 7.5% sales tax. What was the total price of -

markup Add the percent to 100, move the ball?
(tax, tip, ...) the decimal two places to the 21 4+ 5° £ _Q)"lf‘-)
left, and multiply 100°% S fo 71071, 5% = E
2799%1.079=1 €30.09
Carlos is going to buy a Keurig coffee maker
priced at $129.99, and he has a 20% off coupon.
markdown Subtract the percent from 100, | What is the sale price of the coffee maker?
(discount, sale, move the decimal two places to —_ ©
coupon) the left, and multiply 1C0 /o~ ZQOAD -~ %@/9 = O. 80“
12999 x 0.80=|:
Move the decimal two places Maryann invested $1500 into an account with a
left, multiply by money amount, | 3% interest rate. How much interest will she earn
Interest then by the number of years. in 4 years?

(We didn't really

practice this but

just in case you
see it)

*If asked to find total amount in
account, add answer to the
amount of money you started
with,

|QQO* ©.03 = 849

percent change

Find the difference between
your two amounts. Then, divide
the difference by the original
amount and multiply by 100.

In 2000, there were 835 students enrolled at
WAMS. This year we have approximately 920
students. What is the percent increase in student
population? ~

G20-825= 35

35’ _ = ®
52— (00 }\@.\&A

commission

Move the decimal two places to
the left then multiply.- (You are
just finding a percent of a
number

A car salesman makes 4% commission on his .
sales. If he makes a sale of $31,000, how much
commission does he earn?

31,000 x ©. 04 = ‘,
81,2140 |

working
backwards

Substitute the vaiues you know
into the percent equation, then
divide to get your answer.

An Otterbox was on sale 20% off. If the sale
price was $47.99, what was the original price?

100% -~ 20% = 80% = ©.30
° %@ p = L‘ —ch‘

~0.8 |08

lam




What Do You Get If a Box of Pampers Falls in the Fire?

Cros out‘the letter next to each correct answer. The answer to the title question will remain.

A (d

Becoming
Invisible

In a survey, 400 students were asked which
superpower they would most like to have.

e Based on the graph:
L | $12.65 a. How many students said “flying"?
b=|45.7% b. How many students said “X-ray vision"?
c. What percent of the students said
N |28.5 cm? “becoming invisible"? X-ray Vision
2%
k|36
z Zarat Zim sells refrigerators. Kenya Kon sells dishwashers.
<[331.15 He earns an 8% commision on He earns an 8% commision on
sales. How much does he earn sales. How much must he sell
| $1684.50 on sales of $3000? in order to earn $30007?
M| s$352
4_ The regular price of a Stellar 9 5 Dr. Sox paid $1580 for a new
=250 video game is $44.50, but it is computer system. She also
on sale at a 30% discount paid a 6.5% sales tax.
£|44.2% a. How much is the discount? a. How much was the tax?
=[%102.70 b. What is the sale price? b. What was the total cost?
L | 28%
i 6 For each player in the table, find Poyer Crobe Dacketo Parcht
0©|$37.500 what percent of his shots were Huey 29 12
baskets. What is the highest of Dewey 48 20
.| s340 the three shooting percentages? Louie 35 16
== | 128
7 The area of the heart [ B ] § The value of a certain rare
gl s1682.70 is 20 cm?, If this is stamp is 160% of its value
72% of the area of the three years ago. If the stamp
| $38,200 square, what is the ‘ was worth $220 then, what is
area of the square? it worth today?
I=|262.5% :
; . Car Stopping Distance
= | $104.50 Q With all other variables held
constant, the stopping distance %5 512
L. | 240 for a car depends on the speed of
the car. Based on the graph, O
Al275% find the following: E%J 200-
a. The 30 mph stopping distance & -
=l | 35.3% is what percent of the 60 mph % |
> stopping distance? e
O|27.8 em b. The 40 mph stopping distance 1
Tls13.35 is what percent of the 20 mph O=%0 30 40 50 60
stopping distance? Speed (mph)

PUNCHLINE = Bridge to Algebra

©2001 Marcy Mathworks

e §F o

Ratio, Proportion, and Percent:
Problem Solving with Percent



